Monthly averaged wind velocity by MF radar at Tromsoe for November 2018

North

mean sigma = 20.952

o
o
T

%

o WW\/W
-50
-100E
0 4 16 20 0
mean sigma = 20.748
100 F E|
505 3
C -\ ]
oM™yl P Y Wby
-50F
-100E
0 4 8 12 16 20 0
mean sigma = 21.401
100 F E|
50 =
-50 E
-100E E|
0 4 8 12 16 20 0
mean sigma = 21.518
100 F E|
50 =
-50 E
-100E 3
0 4 8 12 16 20 0
mean sigma = 20.113
100 F E|
50 =
05 e - e E
.50 E
-100E 3
0 4 8 12 16 20 0
mean sigma = 17.606
100 F E|
50 -3
ob 4
-50F E
-100E 3
0 4 8 12 16 20 0
mean sigma = 16.802
100 F E|
50 3
:
-100E E|
0 4 8 12 16 20 0
mean sigma = 16.306
100 F E|
50 =
oF 4
-50F E
-100E 3
0 4 8 12 16 20 0

East

mean sigma = 19.549

o [rr
B
® ]
N
>

20

o

100F E|
50~ E
of ;
-100E E|
0 4 8 12 16 20 0
mean sigma = 22.883
100F E|
50 =
o BrUM LAYy o AL £
-50F E
-100E 3
0 4 8 12 16 20 0
mean sigma = 22.382
100 F E|
50 =
o b S I, e p A R :
50 E
-100E 3
0 4 8 12 16 20 0
mean sigma = 22.205
100 F E|
50 =
OT """"" |
50 E
-100E E|
0 4 8 12 16 20 0
mean sigma = 19.837
100 F E|
50 -3
-50F 4
-100E 3
0 4 8 12 16 20 0
mean sigma = 17.746
100F E|
50 .
R e S ;
-100E 3
0 4 8 12 16 20 0
mean sigma = 15.778
100F E|
50 E
oF s
50 E
-100E E|
0 4 8 12 16 20 0

106km

103km

100km

97km

94km

91km

88km

85km



a o
o O

o &
ISH=)

a o
o O

o &
3 o

a o
o O

o &
ISIR=)

by

a o
o O

o &
ISIR=)

a o
o O

o &
ISHR=)

a o
o O

o &
ISH=)

a o
o O

o &
3 o

Monthly averaged wind velocity by MF radar at Tromsoe for November 2018
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